

Best Hyers–Ulam Stability Constants on a Time Scale with Discrete Core and Continuous Periphery



Douglas R. Anderson and Masakazu Onitsuka

Abstract Consider a time scale consisting of a discrete core with uniform step size, augmented with a continuous-interval periphery. On this time scale, we determine the best constants for the Hyers–Ulam stability of a first-order dynamic equation with complex constant coefficient, based on the placement of the complex coefficient in the complex plane, with respect to the imaginary axis and the Hilger circle. These best constants are then related to known results for the special cases of completely continuous and uniformly discrete time scales.

1 Introduction

In this paper we explore the Hyers–Ulam stability of a certain dynamic equation on a new time scale with a discrete, uniform core and continuous periphery. Ulam inaugurated this type of stability [37], followed by Hyers [22] and Rassias [34]. Since then, there has been wide-spread interest in this type of stability, including for difference equations, recurrence relations, h -difference equations, quantum equations, and dynamic equations on time scales. For early papers on difference equations, see Popa [31, 32]; more current works include Anderson and Onitsuka [5, 6], Baias and Popa [13], Brzdęk and Wójcik [16], Onitsuka [29, 30], Rasouli, Abbaszadeh, and Eshaghi [33], Xu and Brzdęk [38]. A related monograph is Brzdęk, Popa, Raşa, and Xu [17]. Quantum equations and Hyers–Ulam stability are investigated in Anderson and Onitsuka [7, 8]. For some work on matrix and nonlinear difference equations, see Jung and Nam [24, 25], and Nam [26–28]. For early papers on time scales, see András and Mészáros [12], Hua, Li, and Feng [21];

D. R. Anderson (✉)

Concordia College, Department of Mathematics, Moorhead, MN, USA

e-mail: andersod@cord.edu

M. Onitsuka

Okayama University of Science, Department of Applied Mathematics, Okayama, Japan

e-mail: onitsuka@xmath.ous.ac.jp

© Springer Nature Switzerland AG 2021

Th. M. Rassias (ed.), *Nonlinear Analysis, Differential Equations, and Applications*,

Springer Optimization and Its Applications 173,

https://doi.org/10.1007/978-3-030-72563-1_2

contemporary results include Anderson [2], Anderson, Jennissen, and Montplaisir [10], Anderson and Onitsuka [3, 4, 9], Shen [35], Shen and Li [36]. For recent papers with non-constant or periodic coefficients, see Anderson [1], Anderson, Onitsuka, and Rassias [11], Baias, Blaga, and Popa [14], Buşe, Lupulescu, and O'Regan [19], Buşe, O'Regan, and Sailerli [18].

This work will proceed as follows. In Section 2, we will define the time scale with discrete core and continuous periphery, introduce the basic derivative and exponential function for this time scale, and define Hyers–Ulam stability for the dynamic equation with a complex constant coefficient. In Section 3, we establish the best Hyers–Ulam stability constants in Theorem 5, based on the location of the complex coefficient with respect to the imaginary axis, and for negative real part, with respect to the left Hilger circle. If we expand the discrete core to all of $h\mathbb{Z}$, or shrink it to recover the continuum \mathbb{R} , we are able to relate our new results with the current literature in the field. As we do this, an interesting case arises when the real part of the complex coefficient is negative but it lies outside the Hilger circle; this case is explored in Section 4. After that, we provide a brief conclusion and future direction.

2 Time Scale with Discrete Core and Continuous Periphery

Let \mathbb{N}_0 denote the non-negative integers $\{0, 1, 2, \dots\}$, let $m \in \mathbb{N}_0$, and let $h > 0$. Define the time scale with discrete core and continuous periphery via

$$\mathbb{T}_{hm} := (-\infty, -hm) \cup \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty).$$

Here, $h > 0$ is the uniform step size in the discrete core, with discrete spread $m \in \mathbb{N}_0$ out to the continuous periphery. Define the graininess function $\mu : \mathbb{T}_{hm} \rightarrow \mathbb{R}$ via

$$\mu(t) = \begin{cases} 0 & : t \in (-\infty, -hm) \cup [hm, \infty), \\ h & : t \in \{-hm, \dots, -h, 0, h, \dots, h(m-1)\}. \end{cases}$$

As $h \rightarrow 0$, or if $m = 0$, we have $\mathbb{T}_{0,m} = \mathbb{T}_{h,0} = \mathbb{R}$, and we recover results for classical differential equations; as $m \rightarrow \infty$ for fixed $h > 0$, we have $\mathbb{T}_{h,\infty} = h\mathbb{Z}$ and we recover results for standard h -difference equations.

In this section we introduce the first-order linear homogeneous equation with constant complex-valued coefficient

$$x^\Delta(t) - \lambda x(t) = 0, \quad \lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}, \quad t \in \mathbb{T}_{hm}, \quad (1)$$

where

$$x^\Delta(t) := \begin{cases} \frac{d}{dt}x(t) & : t \in (-\infty, -hm) \cup [hm, \infty) \\ \frac{x(t+h)-x(t)}{h} & : t \in \{-hm, \dots, -h, 0, h, \dots, h(m-1)\}. \end{cases}$$

Lemma 1 (Exponential Function) Fix $h > 0$. For $t \in \mathbb{T}_{hm}$, define the function

$$e_\lambda(t, 0) := \begin{cases} (1 + h\lambda)^{-m} e^{\lambda(t+hm)} & : t \in (-\infty, -hm) \\ (1 + h\lambda)^{\frac{t}{h}} & : t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \\ (1 + h\lambda)^m e^{\lambda(t-hm)} & : t \in (hm, \infty). \end{cases} \quad (2)$$

Then, $x(t) = x_0 e_\lambda(t, 0)$ for $e_\lambda(t, 0)$ given in (2) is the unique solution of (1) satisfying $x(0) = x_0 \in \mathbb{C}$.

3 Best Constants for First-Order Equations with Constant Complex Coefficient

In this section, we consider on \mathbb{T}_{hm} the Hyers–Ulam stability of (1), defined as follows.

Definition 1 (HUS) Let $\varepsilon > 0$ be arbitrary. Equation (1) has Hyers–Ulam stability (HUS) if and only if given $\phi : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ satisfying $|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon$ for all $t \in \mathbb{T}_{hm}$, there exists a solution $x : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ of (1) and a constant $K > 0$ such that $|\phi(t) - x(t)| \leq K\varepsilon$ for all $t \in \mathbb{T}_{hm}$. Such a constant K is called an HUS constant for (1) on \mathbb{T}_{hm} .

Theorem 1 Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\text{Re}(\lambda) > 0$. Let $\varepsilon > 0$ be a fixed arbitrary constant, and let ϕ be a function on \mathbb{T}_{hm} satisfying the inequality

$$|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon, \quad t \in \mathbb{T}_{hm}.$$

Then, $\lim_{t \rightarrow \infty} \frac{\phi(t)}{e_\lambda(t, 0)}$ exists, and the function x given by

$$x(t) := \left(\lim_{t \rightarrow \infty} \frac{\phi(t)}{e_\lambda(t, 0)} \right) e_\lambda(t, 0)$$

is the unique solution of (1) with

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{1}{\text{Re}(\lambda)} \right)$$

for all $t \in \mathbb{T}_{hm}$.

Proof Let $\lambda \in \mathbb{C} \setminus \{\frac{-1}{h}\}$ with $\operatorname{Re}(\lambda) > 0$. Throughout this proof, as $|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon$ for all $t \in \mathbb{T}_{hm}$, there exists a function $q : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ such that

$$\phi^\Delta(t) - \lambda\phi(t) = q(t), \quad |q(t)| \leq \varepsilon$$

for all $t \in \mathbb{T}_{hm}$. The variation of constants formula then yields

$$\phi(t) = \phi_0 e_\lambda(t, 0) + e_\lambda(t, 0) \int_0^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau.$$

Since $\operatorname{Re}(\lambda) > 0$ and $|q(t)| \leq \varepsilon$, we can rewrite ϕ as

$$\phi(t) = \left(\phi_0 + \int_0^\infty \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right) e_\lambda(t, 0) - e_\lambda(t, 0) \int_t^\infty \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau, \quad (3)$$

where

$$x_0 := \phi_0 + \int_0^\infty \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \in \mathbb{C}$$

exists and is finite. Clearly

$$x(t) := x_0 e_\lambda(t, 0), \quad t \in \mathbb{T}_{hm}$$

is a solution of (1), and

$$\lim_{t \rightarrow \infty} \frac{\phi(t)}{e_\lambda(t, 0)} = \lim_{t \rightarrow \infty} \left(\phi_0 + \int_0^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right) = x_0$$

exists, so

$$x(t) = \left(\lim_{t \rightarrow \infty} \frac{\phi(t)}{e_\lambda(t, 0)} \right) e_\lambda(t, 0).$$

We take into account three cases based on the three branches of the exponential function in (2).

(a). For $\operatorname{Re}(\lambda) > 0$ and $t \in (hm, \infty)$, using (3) we have that

$$\begin{aligned} |\phi(t) - x(t)| &= \left| -e_\lambda(t, 0) \int_t^\infty \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right| \\ &\leq \varepsilon |e_\lambda(t, 0)| \int_t^\infty \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\ &= \varepsilon |1 + h\lambda|^m e^{\operatorname{Re}(\lambda)(t-hm)} \int_t^\infty \frac{d\tau}{|1 + h\lambda|^m e^{\operatorname{Re}(\lambda)(\tau-hm)}} \\ &= \frac{\varepsilon}{\operatorname{Re}(\lambda)} \end{aligned}$$

holds for all $t \in (hm, \infty)$.

(b). For $\operatorname{Re}(\lambda) > 0$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, using (3) we have

$$\begin{aligned}
 |\phi(t) - x(t)| &\leq \varepsilon |e_\lambda(t, 0)| \int_t^\infty \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
 &= \varepsilon |1 + h\lambda|^{\frac{t}{h}} \left(\int_t^{hm} + \int_{hm}^\infty \right) \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
 &= \varepsilon |1 + h\lambda|^{\frac{t}{h}} \left(\sum_{j=\frac{t}{h}}^{m-1} \frac{h}{|1 + h\lambda|^{j+1}} + \int_{hm}^\infty \frac{d\tau}{|1 + h\lambda|^m e^{\operatorname{Re}(\lambda)(\tau-hm)}} \right) \\
 &= \varepsilon |1 + h\lambda|^{\frac{t}{h}} \left(\frac{h \left(|1 + h\lambda|^{-\frac{t}{h}} - |1 + h\lambda|^{-m} \right)}{|1 + h\lambda| - 1} + \frac{1}{|1 + h\lambda|^m \operatorname{Re}(\lambda)} \right) \\
 &= \varepsilon \left(\frac{h}{|1 + h\lambda| - 1} + |1 + h\lambda|^{\frac{t}{h}-m} \left(\frac{1}{\operatorname{Re}(\lambda)} - \frac{h}{|1 + h\lambda| - 1} \right) \right) \\
 &\leq \frac{\varepsilon}{\operatorname{Re}(\lambda)}
 \end{aligned}$$

for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, as $\frac{t}{h} \leq m$ and $\frac{1}{\operatorname{Re}(\lambda)} \geq \frac{h}{|1+h\lambda|-1}$ for $\operatorname{Re}(\lambda) > 0$ and $h > 0$.

(c). For $\operatorname{Re}(\lambda) > 0$ and $t \in (-\infty, -hm)$, using (3) we have

$$\begin{aligned}
 |\phi(t) - x(t)| &\leq \varepsilon |e_\lambda(t, 0)| \int_t^\infty \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
 &= \frac{\varepsilon e^{\operatorname{Re}(\lambda)(t+hm)}}{|1 + h\lambda|^m} \left(\int_t^{-hm} + \int_{-hm}^{hm} + \int_{hm}^\infty \right) \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
 &= \frac{\varepsilon e^{\operatorname{Re}(\lambda)(t+hm)}}{|1 + h\lambda|^{2m}} \left(\frac{1}{\operatorname{Re}(\lambda)} + \frac{(e^{-\operatorname{Re}(\lambda)(t+hm)} - 1)}{|1 + h\lambda|^{-2m} \operatorname{Re}(\lambda)} \right. \\
 &\quad \left. + \frac{h \left(|1 + h\lambda|^{2m} - 1 \right)}{|1 + h\lambda| - 1} \right) \\
 &= \varepsilon \left\{ \frac{1}{\operatorname{Re}(\lambda)} + e^{\operatorname{Re}(\lambda)(t+hm)} \left(\frac{1}{|1 + h\lambda|^{2m} \operatorname{Re}(\lambda)} \right. \right. \\
 &\quad \left. \left. + \left(\frac{h}{|1 + h\lambda| - 1} \right) \left(1 - \frac{1}{|1 + h\lambda|^{2m}} \right) - \frac{1}{\operatorname{Re}(\lambda)} \right) \right\} \\
 &\leq \frac{\varepsilon}{\operatorname{Re}(\lambda)}
 \end{aligned}$$

for all $t \in (-\infty, -hm)$, as $t < -hm$, and the expression inside the square brackets is negative.

We next show that x is the unique solution of (1) such that $|\phi(t) - x(t)| \leq K\varepsilon := \frac{1}{\operatorname{Re}(\lambda)}\varepsilon$ for all $t \in \mathbb{T}_{hm}$. Suppose $\phi : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ is an approximate solution of (1) such that

$$|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon \text{ for all } t \in \mathbb{T}_{hm}$$

for some $\varepsilon > 0$. Suppose further that $x_1, x_2 : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ are two different solutions of (1) such that $|\phi(t) - x_j(t)| \leq K\varepsilon$ for all $t \in \mathbb{T}_{hm}$, for $j = 1, 2$. Then, we have for constants $c_j \in \mathbb{C}$ that

$$x_j(t) = c_j e_\lambda(t, 0), \quad c_1 \neq c_2,$$

and

$$|c_1 - c_2| \cdot |e_\lambda(t, 0)| = |x_1(t) - x_2(t)| \leq |x_1(t) - \phi(t)| + |\phi(t) - x_2(t)| \leq 2K\varepsilon;$$

letting $t \rightarrow \infty$ yields $\infty < 2K\varepsilon$, a contradiction. Consequently, x is the unique solution of (1) such that $|\phi(t) - x(t)| \leq \frac{\varepsilon}{\operatorname{Re}(\lambda)}$ for all $t \in \mathbb{T}_{hm}$. This completes the proof. \square

Theorem 2 *Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\operatorname{Re}(\lambda) < 0$. Let $\varepsilon > 0$ be a fixed arbitrary constant, and let ϕ be a function on \mathbb{T}_{hm} satisfying the inequality*

$$|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon, \quad t \in \mathbb{T}_{hm}.$$

Then, $\lim_{t \rightarrow -\infty} \frac{\phi(t)}{e_\lambda(t, 0)}$ exists, and the function x given by

$$x(t) := \left(\lim_{t \rightarrow -\infty} \frac{\phi(t)}{e_\lambda(t, 0)} \right) e_\lambda(t, 0)$$

is the unique solution of (1) with $|\phi(t) - x(t)| \leq K\varepsilon$ for all $t \in \mathbb{T}_{hm}$, where

$$K := \begin{cases} \frac{-1}{\operatorname{Re}(\lambda)} + 2hm & : |1 + h\lambda| = 1 \\ \max \left\{ \frac{-1}{\operatorname{Re}(\lambda)}, \frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right\} & : |1 + h\lambda| \neq 1. \end{cases} \quad (4)$$

In particular, the following holds.

(i) *If $t \in (-\infty, -hm)$, then*

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} \right)$$

for all $t \in (-\infty, -hm)$.

(ii) If $|1 + h\lambda| = 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$, then

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right)$$

for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$.

(iii) If $0 < |1 + h\lambda| < 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$, then

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right)$$

for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$.

(iv) If $|1 + h\lambda| > 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$, then

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right)$$

for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$.

Proof Let $\lambda \in \mathbb{C} \setminus \{\frac{-1}{h}\}$ with $\operatorname{Re}(\lambda) < 0$. Supposing $|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon$ for all $t \in \mathbb{T}_{hm}$, there exists a function $q : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ such that

$$\phi^\Delta(t) - \lambda\phi(t) = q(t), \quad |q(t)| \leq \varepsilon$$

for all $t \in \mathbb{T}_{hm}$. Then, we have

$$\phi(t) = \phi_0 e_\lambda(t, 0) + e_\lambda(t, 0) \int_0^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau.$$

Since $\operatorname{Re}(\lambda) < 0$ and $|q(t)| \leq \varepsilon$, we can rewrite ϕ as

$$\phi(t) = \left(\phi_0 - \int_{-\infty}^0 \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right) e_\lambda(t, 0) + e_\lambda(t, 0) \int_{-\infty}^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau, \quad (5)$$

where

$$x_0 := \phi_0 - \int_{-\infty}^0 \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \in \mathbb{C}$$

exists and is finite. As in the previous case,

$$x(t) := x_0 e_\lambda(t, 0), \quad t \in \mathbb{T}_{hm}$$

is a solution of (1), and

$$\lim_{t \rightarrow -\infty} \frac{\phi(t)}{e_\lambda(t, 0)} = \lim_{t \rightarrow -\infty} \left(\phi_0 - \int_t^0 \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right) = x_0$$

exists, so

$$x(t) = \left(\lim_{t \rightarrow -\infty} \frac{\phi(t)}{e_\lambda(t, 0)} \right) e_\lambda(t, 0).$$

We again work our way through the three cases based on the three branches of the exponential function in (2).

(i). For $\operatorname{Re}(\lambda) < 0$ and $t \in (-\infty, -hm)$, using (5) we have

$$\begin{aligned} |\phi(t) - x(t)| &= \left| e_\lambda(t, 0) \int_{-\infty}^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right| \\ &\leq \varepsilon |e_\lambda(t, 0)| \int_{-\infty}^t \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\ &= \varepsilon |1 + h\lambda|^{-m} e^{\operatorname{Re}(\lambda)(t+hm)} \int_{-\infty}^t \frac{|1 + h\lambda|^m d\tau}{e^{\operatorname{Re}(\lambda)(\tau+hm)}} \\ &= -\frac{\varepsilon}{\operatorname{Re}(\lambda)} \end{aligned}$$

holds for $\operatorname{Re}(\lambda) < 0$ and for all $t \in (-\infty, -hm)$.

(ii) (a). For $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| = 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, using (5) we have

$$\begin{aligned} |\phi(t) - x(t)| &\leq \varepsilon |e_\lambda(t, 0)| \int_{-\infty}^t \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\ &= \varepsilon \left(\int_{-\infty}^{-hm} + \int_{-hm}^t \right) \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\ &= \varepsilon \left(\int_{-\infty}^{-hm} \frac{d\tau}{e^{\operatorname{Re}(\lambda)(\tau+hm)}} + \sum_{j=-m}^{\frac{t-h}{h}} h \right) \\ &= \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + hm + t \right) \\ &\leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right), \end{aligned}$$

for $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| = 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$.

(ii) (b). For $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| = 1$ and $t \in (hm, \infty)$, using (5) we have

$$|\phi(t) - x(t)| \leq \varepsilon e^{\operatorname{Re}(\lambda)(t-hm)} \left(\int_{-\infty}^{-hm} + \int_{-hm}^{hm} + \int_{hm}^t \right) \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|}$$

$$\begin{aligned}
&= \varepsilon e^{\operatorname{Re}(\lambda)(t-hm)} \left(2hm - \frac{e^{-\operatorname{Re}(\lambda)(t-hm)}}{\operatorname{Re}(\lambda)} \right) \\
&\leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right),
\end{aligned}$$

as $t > hm$ and $\operatorname{Re}(\lambda) < 0$.

(iii) (a). For $\operatorname{Re}(\lambda) < 0$ with $0 < |1 + h\lambda| < 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, using (5) we have

$$\begin{aligned}
|\phi(t) - x(t)| &\leq \varepsilon |e_\lambda(t, 0)| \int_{-\infty}^t \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
&= \varepsilon |1 + h\lambda|^{\frac{t}{h}} \left(\int_{-\infty}^{-hm} + \int_{-hm}^t \right) \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
&= \varepsilon |1 + h\lambda|^{\frac{t}{h}} \left(\int_{-\infty}^{-hm} \frac{|1 + h\lambda|^m d\tau}{e^{\operatorname{Re}(\lambda)(\tau+hm)}} + \sum_{j=-m}^{\frac{t-h}{h}} \frac{h}{|1 + h\lambda|^{j+1}} \right) \\
&= \varepsilon |1 + h\lambda|^{\frac{t}{h}} \left(\frac{h \left(|1 + h\lambda|^m - |1 + h\lambda|^{-\frac{t}{h}} \right)}{|1 + h\lambda| - 1} - \frac{|1 + h\lambda|^m}{\operatorname{Re}(\lambda)} \right) \\
&= \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{\frac{t}{h}+m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right) \\
&\leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right),
\end{aligned}$$

as $\frac{t}{h} \leq m$ and $\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} \leq 0$ for $\operatorname{Re}(\lambda) < 0$ with $0 < |1 + h\lambda| < 1$ and $h > 0$.

(iii) (b). For $\operatorname{Re}(\lambda) < 0$ with $0 < |1 + h\lambda| < 1$ and $t \in (hm, \infty)$, using (5) we have

$$\begin{aligned}
|\phi(t) - x(t)| &\leq \frac{\varepsilon e^{\operatorname{Re}(\lambda)(t-hm)}}{|1 + h\lambda|^{-m}} \left(\int_{-\infty}^{-hm} + \int_{-hm}^{hm} + \int_{hm}^t \right) \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\
&= \varepsilon e^{\operatorname{Re}(\lambda)(t-hm)} \left(\frac{1 - e^{-\operatorname{Re}(\lambda)(t-hm)} - |1 + h\lambda|^{2m}}{\operatorname{Re}(\lambda)} \right. \\
&\quad \left. + \frac{h \left(|1 + h\lambda|^{2m} - 1 \right)}{|1 + h\lambda| - 1} \right)
\end{aligned}$$

$$\begin{aligned}
&= \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + e^{\operatorname{Re}(\lambda)(t-hm)} \left(\frac{|1+h\lambda|^{2m}-1}{-\operatorname{Re}(\lambda)} + \frac{h(|1+h\lambda|^{2m}-1)}{|1+h\lambda|-1} \right) \right) \\
&\leq \varepsilon \left(\frac{h}{1-|1+h\lambda|} + |1+h\lambda|^{2m} \left(\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right),
\end{aligned}$$

as $t > hm$, $\operatorname{Re}(\lambda) < 0$ with $0 < |1+h\lambda| < 1$, and the expression inside the square brackets is non-negative.

(iv) (a). For $\operatorname{Re}(\lambda) < 0$ with $|1+h\lambda| > 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, using the same calculation as in case (iii)(a), we get

$$\begin{aligned}
|\phi(t) - x(t)| &\leq \varepsilon \left(\frac{h}{1-|1+h\lambda|} + |1+h\lambda|^{\frac{t}{h}+m} \left(\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right) \\
&\leq \varepsilon \left(\frac{h}{1-|1+h\lambda|} + |1+h\lambda|^{2m} \left(\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right),
\end{aligned}$$

as $\frac{t}{h} \leq m$ and $\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} > 0$ for $\operatorname{Re}(\lambda) < 0$ with $|1+h\lambda| > 1$ and $h > 0$.

(iv) (b). For $\operatorname{Re}(\lambda) < 0$ with $|1+h\lambda| > 1$ and $t \in (hm, \infty)$, using the same calculation as in case (iii)(b), we get

$$\begin{aligned}
|\phi(t) - x(t)| &\leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + e^{\operatorname{Re}(\lambda)(t-hm)} \left(\frac{|1+h\lambda|^{2m}-1}{-\operatorname{Re}(\lambda)} + \frac{h(|1+h\lambda|^{2m}-1)}{|1+h\lambda|-1} \right) \right) \\
&\leq \varepsilon \left(\frac{h}{1-|1+h\lambda|} + |1+h\lambda|^{2m} \left(\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right),
\end{aligned}$$

as $t > hm$, $\operatorname{Re}(\lambda) < 0$ with $|1+h\lambda| > 1$, and the expression inside the square brackets is positive.

We next show that x is the unique solution of (1) such that $|\phi(t) - x(t)| \leq K\varepsilon$ for all $t \in \mathbb{T}_{hm}$, where K is given by (4). Suppose $\phi : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ is an approximate solution of (1) such that

$$|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon \text{ for all } t \in \mathbb{T}_{hm}$$

for some $\varepsilon > 0$. Suppose further that $x_1, x_2 : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ are two different solutions of (1) such that $|\phi(t) - x_j(t)| \leq K\varepsilon$ for all $t \in \mathbb{T}_{hm}$, for $j = 1, 2$. Then, we have for constants $c_j \in \mathbb{C}$ that

$$x_j(t) = c_j e_\lambda(t, 0), \quad c_1 \neq c_2,$$

and

$$|c_1 - c_2| \cdot |e_\lambda(t, 0)| = |x_1(t) - x_2(t)| \leq |x_1(t) - \phi(t)| + |\phi(t) - x_2(t)| \leq 2K\varepsilon;$$

letting $t \rightarrow -\infty$ yields $\infty < 2K\varepsilon$, a contradiction. Consequently, x is the unique solution of (1) such that $|\phi(t) - x(t)| \leq \varepsilon K$ for all $t \in \mathbb{T}_{hm}$. This completes the proof. \square

Theorem 3 Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\operatorname{Re}(\lambda) = 0$. Then, (1) is not Hyers–Ulam stable on \mathbb{T}_{hm} .

Proof Assume $\operatorname{Re}(\lambda) = 0$ for $\lambda \in \mathbb{C}$. Let arbitrary $\varepsilon > 0$ be given, and let $\lambda = i\beta$ for some $\beta \in \mathbb{R}$. Then,

$$\phi(t) := \frac{\varepsilon t e_{i\beta}(t, 0)}{(1 + h^2 \beta^2)^{\frac{m+1}{2}}}, \quad t \in \mathbb{T}_{hm}$$

satisfies the inequality

$$|\phi^\Delta(t) - i\beta\phi(t)| = \frac{\varepsilon |(1 + i\beta\mu(t))e_{i\beta}(t, 0)|}{(1 + h^2 \beta^2)^{\frac{m+1}{2}}} \leq \frac{\varepsilon |e_{i\beta}(t, 0)|}{(1 + h^2 \beta^2)^{\frac{m}{2}}} \leq \varepsilon$$

for all $t \in \mathbb{T}_{hm}$. Since $x(t) = x_0 e_{i\beta}(t, 0)$ is the general solution of (1) when $\lambda = i\beta$, then

$$|\phi(t) - x(t)| = \frac{|e_{i\beta}(t, 0)|}{(1 + h^2 \beta^2)^{\frac{m+1}{2}}} \left| \varepsilon t - x_0 (1 + h^2 \beta^2)^{\frac{m+1}{2}} \right| \rightarrow \infty$$

as $t \rightarrow \pm\infty$ for $t \in \mathbb{T}_{hm}$ and for any $x_0 \in \mathbb{C}$, $\beta \in \mathbb{R}$, $h > 0$. So, (1) lacks HUS on \mathbb{T}_{hm} if $\lambda = i\beta$. \square

Using the previous theorems, we can establish the following results.

Theorem 4 Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$. Equation (1) has HUS on \mathbb{T}_{hm} if and only if $\operatorname{Re}(\lambda) \neq 0$.

Proof By Theorems 1, 2 and 3, we obtain the result, immediately. \square

Lemma 2 Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\operatorname{Re}(\lambda) \neq 0$.

(i) If $\operatorname{Re}(\lambda) > 0$, then the HUS constant K for (1) satisfies

$$K \geq \frac{1}{\operatorname{Re}(\lambda)}.$$

(ii) If $\operatorname{Re}(\lambda) < 0$, then the HUS constant K for (1) satisfies

$$K \geq \begin{cases} \frac{-1}{\operatorname{Re}(\lambda)} + 2hm & : |1 + h\lambda| = 1 \\ \max \left\{ \frac{-1}{\operatorname{Re}(\lambda)}, \frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right\} & : |1 + h\lambda| \neq 1. \end{cases}$$

Proof Since $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\operatorname{Re}(\lambda) \neq 0$, Equation (1) has HUS by Theorem 4. We will proceed by cases.

(i). Let $\lambda = \alpha + i\beta \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$, and assume $\operatorname{Re}(\lambda) = \alpha > 0$; set

$$\phi(t) := \frac{-\varepsilon e_{i\beta}(t, 0)}{\alpha (1 + h^2 \beta^2)^{\frac{m}{2}}} + \frac{\varepsilon}{\alpha} e_{\lambda}(t, 0).$$

It follows that

$$|\phi^{\Delta}(t) - \lambda\phi(t)| = \frac{|\varepsilon\alpha e_{i\beta}(t, 0)|}{\alpha (1 + h^2 \beta^2)^{\frac{m}{2}}} = \frac{\varepsilon |e_{i\beta}(t, 0)|}{(1 + h^2 \beta^2)^{\frac{m}{2}}} \leq \varepsilon.$$

Since $x(t) = \frac{\varepsilon}{\alpha} e_{\lambda}(t, 0)$ is a solution of (1),

$$|\phi(t) - x(t)| = \frac{\varepsilon |e_{i\beta}(t, 0)|}{\alpha (1 + h^2 \beta^2)^{\frac{m}{2}}} \leq \frac{\varepsilon}{\alpha},$$

with equality at $t = hm$, so the minimal HUS constant K for (1) satisfies

$$K \geq \frac{1}{\alpha} = \frac{1}{\operatorname{Re}(\lambda)}.$$

This ends the proof of case (i).

(ii) (a). Assume $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| = 1$. Let

$$\phi(t) = e_{\lambda}(t, 0) \int_0^t \frac{q(\tau)}{e_{\lambda}(\sigma(\tau), 0)} \Delta\tau, \quad q(\tau) = \frac{\varepsilon e_{\lambda}(\sigma(\tau), 0)}{|e_{\lambda}(\sigma(\tau), 0)|}, \quad (6)$$

for all $t \in \mathbb{T}_{hm}$. Then,

$$\phi^{\Delta}(t) - \lambda\phi(t) = q(t), \quad |q(t)| = \varepsilon,$$

and, employing (6), we see that ϕ takes the form

$$\phi(t) = \varepsilon \begin{cases} \left(\frac{1}{\operatorname{Re}(\lambda)} - hm \right) e_{\lambda}(t, 0) - \frac{e^{i \operatorname{Im}(\lambda)(t+hm)}}{(1+h\lambda)^m \operatorname{Re}(\lambda)} & : t \in (-\infty, -hm) \\ t e_{\lambda}(t, 0) & : t \in \{-hm, \dots, hm\} \\ \left(\frac{1}{\operatorname{Re}(\lambda)} + hm \right) e_{\lambda}(t, 0) - \frac{e^{i \operatorname{Im}(\lambda)(t-hm)}}{(1+h\lambda)^{-m} \operatorname{Re}(\lambda)} & : t \in (hm, \infty). \end{cases}$$

If we take

$$x(t) := \varepsilon \left(\frac{1}{\operatorname{Re}(\lambda)} - hm \right) e_{\lambda}(t, 0),$$

then x is a solution of (1), and

$$|\phi(t) - x(t)| = \begin{cases} \varepsilon \left| \frac{-e^{i \operatorname{Im}(\lambda)(t+hm)}}{(1+h\lambda)^m \operatorname{Re}(\lambda)} \right| = \frac{-\varepsilon}{\operatorname{Re}(\lambda)} & : t \in (-\infty, -hm) \\ \varepsilon \left| -\frac{1}{\operatorname{Re}(\lambda)} + t + hm \right| \leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right) & : t \in \{-hm, \dots, hm\} \\ \varepsilon \left| -\frac{1}{\operatorname{Re}(\lambda)} + 2hme^{\operatorname{Re}(\lambda)(t-hm)} \right| \leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right) & : t \in (hm, \infty), \end{cases}$$

where we have equality at $t = hm$. This shows that the HUS constant K must satisfy

$$K \geq \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right)$$

for $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| = 1$. Here ends the proof of case (ii)(a).

(ii)(b). Assume $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| \neq 1$. Again, let ϕ be given by (6) for all $t \in \mathbb{T}_{hm}$. Then,

$$\phi^\Delta(t) - \lambda\phi(t) = q(t), \quad |q(t)| = \varepsilon,$$

and in this case ϕ takes the form

$$\phi(t) = \begin{cases} \left(\frac{|1+h\lambda|^m}{\operatorname{Re}(\lambda)} - \frac{h(|1+h\lambda|^m-1)}{|1+h\lambda|-1} \right) e_\lambda(t, 0) - \frac{|1+h\lambda|^m e^{i \operatorname{Im}(\lambda)(t+hm)}}{(1+h\lambda)^m \operatorname{Re}(\lambda)} & : t \in (-\infty, -hm) \\ \frac{h \left(|1+h\lambda|^{\frac{t}{h}} - 1 \right)}{|1+h\lambda|^{\frac{t}{h}} (|1+h\lambda|-1)} e_\lambda(t, 0) & : t \in \{-hm, \dots, hm\} \\ \left(\frac{|1+h\lambda|^{-m}}{\operatorname{Re}(\lambda)} + \frac{h(|1+h\lambda|^m-1)}{|1+h\lambda|^m(|1+h\lambda|-1)} \right) e_\lambda(t, 0) - \frac{(1+h\lambda)^m e^{i \operatorname{Im}(\lambda)(t-hm)}}{|1+h\lambda|^m \operatorname{Re}(\lambda)} & : t \in (hm, \infty). \end{cases}$$

If we take

$$x(t) := \varepsilon \left(\frac{|1 + h\lambda|^m}{\operatorname{Re}(\lambda)} - \frac{h (|1 + h\lambda|^m - 1)}{|1 + h\lambda| - 1} \right) e_\lambda(t, 0), \tag{7}$$

then x is a solution of (1), and

$$|\phi(t) - x(t)| = \frac{-\varepsilon}{\operatorname{Re}(\lambda)}, \quad t \in (-\infty, -hm).$$

For $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$,

$$|\phi(t) - x(t)| = \varepsilon \left(\frac{h \left(|1 + h\lambda|^{m+\frac{t}{h}} - 1 \right)}{|1 + h\lambda| - 1} - \frac{|1 + h\lambda|^{m+\frac{t}{h}}}{\operatorname{Re}(\lambda)} \right).$$

If $0 < |1 + h\lambda| < 1$, then as in the proof of Theorem 2 (iii)(a), we have

$$\begin{aligned} |\phi(t) - x(t)| &= \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{\frac{t}{h}+m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right) \\ &\leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right), \end{aligned}$$

as $\frac{t}{h} \leq m$ and $\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} \leq 0$ for $\operatorname{Re}(\lambda) < 0$ with $0 < |1 + h\lambda| < 1$ and $h > 0$, with equality at $t = hm$. If $|1 + h\lambda| > 1$, then as in the proof of Theorem 2 (iv)(a),

$$\begin{aligned} |\phi(t) - x(t)| &= \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{\frac{t}{h}+m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right) \\ &\leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right), \end{aligned}$$

as $\frac{t}{h} \leq m$ and $\frac{h}{|1+h\lambda|-1} - \frac{1}{\operatorname{Re}(\lambda)} > 0$ for $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$ and $h > 0$. For $t \in (hm, \infty)$ and $0 < |1 + h\lambda| < 1$, then as in the proof of Theorem 2 (iii)(b),

$$\begin{aligned} |\phi(t) - x(t)| &= \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + e^{\operatorname{Re}(\lambda)(t-hm)} \left(\frac{|1 + h\lambda|^{2m} - 1}{-\operatorname{Re}(\lambda)} + \frac{h(|1 + h\lambda|^{2m} - 1)}{|1 + h\lambda| - 1} \right) \right) \\ &\leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right), \end{aligned}$$

as $t > hm$, $\operatorname{Re}(\lambda) < 0$ with $0 < |1 + h\lambda| < 1$, and the expression inside the square brackets is non-negative. For $t \in (hm, \infty)$ and $|1 + h\lambda| > 1$, then as in the proof of Theorem 2 (iv)(b), we have

$$\begin{aligned} |\phi(t) - x(t)| &= \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} + e^{\operatorname{Re}(\lambda)(t-hm)} \left(\frac{|1 + h\lambda|^{2m} - 1}{-\operatorname{Re}(\lambda)} + \frac{h(|1 + h\lambda|^{2m} - 1)}{|1 + h\lambda| - 1} \right) \right) \\ &\leq \varepsilon \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right), \end{aligned}$$

as $t > hm$, $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$, and the expression inside the square brackets is positive. This ends the proof of case (ii)(b), and thus the overall result holds. \square

Theorem 5 Let $\lambda \in \mathbb{C} \setminus \{\frac{-1}{h}\}$. If $\operatorname{Re}(\lambda) \neq 0$, then (1) has HUS on \mathbb{T}_{hm} .

(i) If $\operatorname{Re}(\lambda) > 0$, then

$$K = \frac{1}{\operatorname{Re}(\lambda)}$$

is the best (minimal) HUS constant.

(ii) If $\operatorname{Re}(\lambda) < 0$, then

$$K = \begin{cases} \frac{-1}{\operatorname{Re}(\lambda)} + 2hm & : |1 + h\lambda| = 1 \\ \max \left\{ \frac{-1}{\operatorname{Re}(\lambda)}, \frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right\} & : |1 + h\lambda| \neq 1 \end{cases}$$

is the best (minimal) HUS constant.

Proof This result follows immediately from the definitions of HUS and HUS constant, Theorems 1–4, and Lemma 2. \square

Remark 1 If $m = 0$, then $\mathbb{T}_{h,0} = \mathbb{R}$, and the results in Theorems 1 and 2 (i) – (iv) match exactly the known results for $\mathbb{T} = \mathbb{R}$, namely that $x'(t) - \lambda x(t) = 0$ has HUS on \mathbb{R} , and

$$K = \frac{1}{|\operatorname{Re}(\lambda)|}$$

is the best possible HUS constant. If $h \rightarrow 0$, then $\mathbb{T}_{0,m} = \mathbb{R}$, and the results in Theorems 1 and 2 (i) – (iv) also recover the known results for $\mathbb{T} = \mathbb{R}$, because

$$\lim_{h \rightarrow 0^+} \left(\frac{-1}{\operatorname{Re}(\lambda)} + 2hm \right) = \frac{-1}{\operatorname{Re}(\lambda)}, \quad \lim_{h \rightarrow 0^+} \frac{h}{|1 + h\lambda| - 1} = \lim_{h \rightarrow 0^+} \frac{1}{\operatorname{Re}_h(\lambda)} = \frac{1}{\operatorname{Re}(\lambda)}$$

hold, where $\operatorname{Re}_h(\lambda)$ represents the Hilger real part [20] for h -difference equations.

For fixed $h > 0$, if $m \rightarrow \infty$, then $\mathbb{T}_{h,\infty} = h\mathbb{Z}$, and the results in Theorem 1 and Theorem 2 (i) and (iii) match exactly the known results for $\mathbb{T} = h\mathbb{Z}$, namely that $\Delta_h x(t) - \lambda x(t) = 0$ has HUS on $h\mathbb{Z}$, and

$$K = \frac{h}{|1 - |1 + h\lambda||} = \frac{1}{|\operatorname{Re}_h(\lambda)|}$$

is the best possible HUS constant. Theorem 2 (ii) shows an interesting connection; as $m \rightarrow \infty$, the HUS constant in (ii) goes to infinity as well. This is accurate, as $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| = 1$ makes the h -difference equation version of (1) Hyers–Ulam unstable on $h\mathbb{Z}$, as $\lambda \in \mathbb{C}$ is then on the left Hilger circle [5]; see [15, Chapter 2.1], [20], and [23] for more on the Hilger complex plane, and [2, 5, 10] for more on the Hilger circle and HUS. On the other hand, in case (iv) $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$, a result that does not match is obtained, that is,

$$\lim_{m \rightarrow \infty} \left(\frac{h}{1 - |1 + h\lambda|} + |1 + h\lambda|^{2m} \left(\frac{h}{|1 + h\lambda| - 1} - \frac{1}{\operatorname{Re}(\lambda)} \right) \right) = \infty$$

when $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$, but, we know that $\Delta_h x(t) - \lambda x(t) = 0$ has HUS when $|1 + h\lambda| > 1$ (see [5]). Why does this logical gap occur? According to the information of Theorem 2.5 (ii) in [5], in this case, the unique solution x

is determined when $t \rightarrow \infty$. As you can see from the claim of Theorem 2, even in this case, the unique solution x is determined by the information of $t \rightarrow \infty$. Therefore, we can say that the case $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$ is a distinguishing characteristic of Hyers–Ulam stability on this time scale with discrete core and continuous periphery. We explore this anomaly in the next section.

4 Connection with h -Difference Equations in the Case $|1 + h\lambda| > 1$

The following result is effective for clarifying the connection with the h -difference equation $\Delta_h x(t) - \lambda x(t) = 0$ with $|1 + h\lambda| > 1$.

Theorem 6 *Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\operatorname{Re}(\lambda) < 0$ and $|1 + h\lambda| > 1$. Let $\varepsilon > 0$ be a fixed arbitrary constant, and let ϕ be a function on \mathbb{T}_{hm} satisfying the inequality*

$$|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon, \quad t \in \mathbb{T}_{hm}.$$

Then, the function x given by

$$x(t) := \left(\frac{\phi(hm)}{e_\lambda(hm, 0)} \right) e_\lambda(t, 0)$$

is a solution of (1) with

$$|\phi(t) - x(t)| \leq \varepsilon \max \left\{ \frac{h(1 - |1 + h\lambda|^{-2m})}{|1 + h\lambda| - 1}, \frac{-1}{\operatorname{Re}(\lambda)} \right\}$$

for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\} \cup (hm, \infty)$. In particular, the following holds.

(i) If $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, then

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{h(1 - |1 + h\lambda|^{-2m})}{|1 + h\lambda| - 1} \right)$$

for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$.

(ii) If $t \in (hm, \infty)$, then

$$|\phi(t) - x(t)| \leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} \right)$$

for all $t \in (hm, \infty)$.

Proof Let $\lambda \in \mathbb{C} \setminus \left\{ \frac{-1}{h} \right\}$ with $\operatorname{Re}(\lambda) < 0$ and $|1 + h\lambda| > 1$. Suppose that $|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon$ for all $t \in \mathbb{T}_{hm}$, there exists a function $q : \mathbb{T}_{hm} \rightarrow \mathbb{C}$ such that

$$\phi^\Delta(t) - \lambda\phi(t) = q(t), \quad |q(t)| \leq \varepsilon$$

for all $t \in \mathbb{T}_{hm}$. Then, we have

$$\phi(t) = \phi_0 e_\lambda(t, 0) + e_\lambda(t, 0) \int_0^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau.$$

Let $x(t) = x_0 e_\lambda(t, 0)$ be the solution of (1) with

$$x_0 := \phi_0 + \int_0^{hm} \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \in \mathbb{C}.$$

It follows that

$$\phi(t) - x(t) = -e_\lambda(t, 0) \left(\int_t^{hm} \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right). \quad (8)$$

(a) For $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$ and $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, using (8) we have

$$\begin{aligned} |\phi(t) - x(t)| &\leq \varepsilon |e_\lambda(t, 0)| \int_t^{hm} \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} = \varepsilon |1 + h\lambda|^{\frac{t}{h}} \sum_{j=\frac{t}{h}}^{m-1} \frac{h}{|1 + h\lambda|^{j+1}} \\ &= \varepsilon \left(\frac{h \left(1 - |1 + h\lambda|^{-m + \frac{t}{h}} \right)}{|1 + h\lambda| - 1} \right) \leq \varepsilon \left(\frac{h \left(1 - |1 + h\lambda|^{-2m} \right)}{|1 + h\lambda| - 1} \right), \end{aligned}$$

as $\frac{t}{h} \leq m$, $h > 0$, and $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$.

(b) For $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$ and $t \in [hm, \infty)$, using (8) we have

$$\begin{aligned} |\phi(t) - x(t)| &= \left| e_\lambda(t, 0) \left(\int_{hm}^t \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right) \right| \\ &\leq \varepsilon |1 + h\lambda|^m e^{\operatorname{Re}(\lambda)(t-hm)} \int_{hm}^t \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \\ &= \varepsilon \left(\frac{-1 + e^{\operatorname{Re}(\lambda)(t-hm)}}{\operatorname{Re}(\lambda)} \right) \leq \varepsilon \left(\frac{-1}{\operatorname{Re}(\lambda)} \right), \end{aligned}$$

as $t \geq hm$ and $\operatorname{Re}(\lambda) < 0$ with $|1 + h\lambda| > 1$. This completes the proof. \square

Remark 2 For fixed $h > 0$, if $m \rightarrow \infty$, then $\mathbb{T}_{h,\infty} = h\mathbb{Z}$, and the result in Theorem 6 (i) reproduces exactly the known result for $\mathbb{T} = h\mathbb{Z}$ (see, Theorem 2.5 (ii) in [5]). Actually, we will explain this fact. Since

$$\left| \int_0^{hm} \frac{q(\tau)}{e_\lambda(\sigma(\tau), 0)} \Delta\tau \right| \leq \varepsilon \int_0^{hm} \frac{\Delta\tau}{|e_\lambda(\sigma(\tau), 0)|} \leq \varepsilon \sum_{j=0}^{m-1} \frac{h}{|1+h\lambda|^{j+1}} < \frac{h}{|1+h\lambda| - 1}$$

holds, we see that

$$\lim_{m \rightarrow \infty} \frac{\phi(hm)}{e_\lambda(hm, 0)} = \lim_{t \rightarrow \infty} \frac{\phi(t)}{e_\lambda(t, 0)}$$

exists. In addition, an HUS constant is

$$\lim_{m \rightarrow \infty} \frac{h(1 - |1 + h\lambda|^{-2m})}{|1 + h\lambda| - 1} = \frac{h}{|1 + h\lambda| - 1}.$$

Theorem 6 (i) says that the function x given by

$$x(t) := \left(\lim_{t \rightarrow \infty} \frac{\phi(t)}{e_\lambda(t, 0)} \right) e_\lambda(t, 0)$$

is a solution of (1) with

$$|\phi(t) - x(t)| \leq \frac{h\varepsilon}{|1 + h\lambda| - 1}$$

for all $t \in h\mathbb{Z}$. As $m \rightarrow \infty$, our exponential function $e_\lambda(t, 0)$ corresponds to $(1 + h\lambda)^{\frac{t}{h}}$ for all $t \in h\mathbb{Z}$. In this case, we can prove the uniqueness of the solution. Let $\varepsilon > 0$, and let $\phi : \{-hm, \dots, -h, 0, h, \dots, hm\} \rightarrow \mathbb{C}$ satisfy

$$|\phi^\Delta(t) - \lambda\phi(t)| \leq \varepsilon \text{ for all } t \in \{-hm, \dots, -h, 0, h, \dots, hm\}.$$

Suppose that $x_1, x_2 : \{-hm, \dots, -h, 0, h, \dots, hm\} \rightarrow \mathbb{C}$ are two different solutions of (1) such that $|\phi(t) - x_j(t)| \leq K\varepsilon := \frac{h}{|1+h\lambda|-1}\varepsilon$ for all $t \in \{-hm, \dots, -h, 0, h, \dots, hm\}$, for $j = 1, 2$. Then, we have for constants $c_j \in \mathbb{C}$ that

$$x_j(t) = c_j(1 + h\lambda)^{\frac{t}{h}}, \quad c_1 \neq c_2,$$

and

$$|c_1 - c_2||1 + h\lambda|^{\frac{t}{h}} = |x_1(t) - x_2(t)| \leq |x_1(t) - \phi(t)| + |\phi(t) - x_2(t)| \leq 2K\varepsilon;$$

letting $m \rightarrow \infty$ and $t \rightarrow \infty$ yields $\infty < 2K\varepsilon$, a contradiction. Consequently, x is the unique solution of $\Delta_h x(t) - \lambda x(t) = 0$ such that $|\phi(t) - x(t)| \leq \varepsilon K$ for all $t \in h\mathbb{Z}$.

5 Conclusion and Future Directions

In this paper we determined the best Hyers–Ulam stability constants for a first-order complex constant coefficient dynamic equation on a time scale with a discrete core and continuous periphery. In the future, we will study a time scale with a discrete periphery and continuous core, whose exponential function for $\lambda \in \mathbb{C} \setminus \{-\frac{1}{h}\}$ is

$$e_\lambda(t, 0) := \begin{cases} (1 + h\lambda)^{\frac{t}{h}+m} e^{-hm\lambda} & : t \in \{\dots, -h(m+2), -h(m+1)\} \\ e^{\lambda t} & : t \in [-hm, hm] \\ (1 + h\lambda)^{\frac{t}{h}-m} e^{hm\lambda} & : t \in \{h(m+1), h(m+2), \dots\}. \end{cases}$$

on $\mathbb{T}_{hm} = \{\dots, -h(m+2), -h(m+1)\} \cup [-hm, hm] \cup \{h(m+1), h(m+2), \dots\}$, where $h > 0$ is the discrete step size and m is a non-negative integer.

Acknowledgments The second author was supported by JSPS KAKENHI Grant Number JP20K03668.

References

1. D.R. Anderson, Hyers–Ulam stability for a first-order linear proportional nabla difference operator, in *Frontiers in Functional Equations and Analytic Inequalities*, ed. by G. Anastassiou, J.M. Rassias (Springer Nature Switzerland AG, Cham, 2019)
2. D.R. Anderson, The discrete diamond-alpha imaginary ellipse and Hyers–Ulam stability. *Int. J. Difference Equations* **14**(1), 25–38 (2019)
3. D.R. Anderson, M. Onitsuka, Hyers–Ulam stability of first-order homogeneous linear dynamic equations on time scales. *Demonstratio Math.* **51**, 198–210 (2018)
4. D.R. Anderson, M. Onitsuka, Hyers–Ulam stability for a discrete time scale with two step sizes. *Appl. Math. Comput.* **344–345**, 128–140 (2019)
5. D.R. Anderson, M. Onitsuka, Best constant for Hyers–Ulam stability of second-order h -difference equations with constant coefficients. *Results Math* **74**, 151 (2019). <https://doi.org/10.1007/s00025-019-1077-9>
6. D.R. Anderson, M. Onitsuka, Hyers–Ulam stability and best constant for Cayley h -difference equations. *Bull. Malaysian Math. Sci. Soc.* (2020). <https://doi.org/10.1007/s40840-020-00920-z>
7. D.R. Anderson, M. Onitsuka, Hyers–Ulam stability for quantum equations of Euler type. *Discrete Dyn. Nature Soc.* **2020**, Article ID 5626481, 10 pp. (2020). <https://doi.org/10.1155/2020/5626481>
8. D.R. Anderson, M. Onitsuka, Hyers–Ulam stability for quantum equations. *Aequationes Math.* (2020). <https://doi.org/10.1007/s00010-020-00734-1>

9. D.R. Anderson, M. Onitsuka, Best constant for Hyers–Ulam stability of two step sizes linear difference equations. *J. Math. Anal. Appl.* (2021). <https://doi.org/10.1016/j.jmaa.2020.124807>
10. D.R. Anderson, A.J. Jennissen, C.J. Montplaisir, Hyers–Ulam stability for a continuous time scale with discrete uniform jumps. *Int. J. Difference Equations* **15**(2), 1–21 (2020)
11. D.R. Anderson, M. Onitsuka, J.M. Rassias, Best constant for Ulam stability of first-order h -difference equations with periodic coefficient. *J. Math. Anal. Appl.* **491**, 124363 (2020). <https://doi.org/10.1016/j.jmaa.2020.124363>
12. S. András, A.R. Mészáros, Ulam–Hyers stability of dynamic equations on time scales via Picard operators. *Appl. Math. Computation*. **219**, 4853–4864 (2013)
13. A.R. Baias, D. Popa, On Ulam stability of a linear difference equation in Banach spaces. *Bull. Malays. Math. Sci. Soc.* (2019). <https://doi.org/10.1007/s40840-019-00744-6>
14. A.R. Baias, F. Blaga, D. Popa, On the best Ulam constant of a first order linear difference equation in Banach spaces. *Acta Math. Hungar.* (2020). <https://doi.org/10.1007/s10474-020-01098-3>
15. M. Bohner, A. Peterson, *Dynamic Equations on Time Scales, An Introduction with Applications* (Birkhäuser, Boston, 2001)
16. J. Brzdęk, P. Wójcik, On approximate solutions of some difference equations. *Bull. Australian Math. Soc.* **95**(3), 76–481 (2017)
17. J. Brzdęk, D. Popa, I. Raşa, B. Xu, *Ulam Stability of Operators*, a volume in *Mathematical Analysis and Its Applications* (Academic Press, New York, 2018)
18. C. Buşe, D. O'Regan, O. Sailerli, Hyers–Ulam stability for linear differences with time dependent and periodic coefficients. *Symmetry* **11**, 512 (2019). <https://doi.org/10.3390/sym11040512>
19. C. Buşe, V. Lupulescu, D. O'Regan, Hyers–Ulam stability for equations with differences and differential equations with time-dependent and periodic coefficients. *Proc. R. Soc. Edinburgh A Math.* **150**(5), 2175–2188 (2020). <https://doi.org/10.1017/prm.2019.12>
20. S. Hilger, Special functions, Laplace and Fourier transform on measure chains. *Dynamic Syst. Appl.* **8**(3–4), 471–488 (1999)
21. L. Hua, Y. Li, J. Feng, On Hyers–Ulam stability of dynamic integral equation on time scales. *Mathematica Aeterna* **4**(6), 559–571 (2014)
22. D.H. Hyers, On the stability of the linear functional equation. *Proc. Nat. Acad. Sci. U. S. A.* **27**, 222–224 (1941)
23. B.J. Jackson, J.M. Davis, D. Poulsen, A polar representation of the Hilger complex plane. *Int. J. Difference Equations* **15**(2), 419–427 (2020)
24. S.-M. Jung, Y.W. Nam, Hyers–Ulam stability of Pielou logistic difference equation. *J. Nonlinear Sci. Appl.* **10**, 3115–3122 (2017)
25. S.-M. Jung, Y.W. Nam, Hyers–Ulam stability of the first order inhomogeneous matrix difference equation. *J. Comput. Anal. Appl.* **23**(8), 1368–1383 (2017)
26. Y.W. Nam, Hyers–Ulam stability of hyperbolic Möbius difference equation. *Filomat* **32**(13), 4555–4575 (2018). <https://doi.org/10.2298/FIL1813555N>
27. Y.W. Nam, Hyers–Ulam stability of elliptic Möbius difference equation. *Cogent Math. Stat.* **5**(1), 1–9 (2018)
28. Y.W. Nam, Hyers–Ulam stability of loxodromic Möbius difference equation. *Appl. Math. Comput.* **356**(1), 119–136 (2019). <https://doi.org/10.1016/j.amc.2019.03.033>
29. M. Onitsuka, Influence of the step size on Hyers–Ulam stability of first-order homogeneous linear difference equations. *Int. J. Difference Equations* **12**(2), 281–302 (2017)
30. M. Onitsuka, Hyers–Ulam stability of second-order nonhomogeneous linear difference equations with a constant step size. *J. Comput. Anal. Appl.* **28**(1), 152–165 (2020)
31. D. Popa, Hyers–Ulam stability of the linear recurrence with constant coefficients. *Adv. Differential Equations* **2005**, 407076 (2005)
32. D. Popa, Hyers–Ulam–Rassias stability of a linear recurrence. *J. Math. Anal. Appl.* **309**, 591–597 (2005)
33. H. Rasouli, S. Abbaszadeh, M. Eshaghi, Approximately linear recurrences. *J. Appl. Anal.* **24**(1), 81–85 (2018)

34. Th.M. Rassias, On the stability of linear mapping in Banach spaces. *Proc. Amer. Math. Soc.* **72**, 297–300 (1978)
35. Y.H. Shen, The Ulam stability of first order linear dynamic equations on time scales. *Results Math.* **72**(4), 1881–1895 (2017)
36. Y.H. Shen, Y.J. Li, Hyers–Ulam stability of first order nonhomogeneous linear dynamic equations on time scales. *Commun. Math. Res.* **35**(2), 139–148 (2019). <https://doi.org/10.13447/j.1674-5647.2019.02.05>
37. S.M. Ulam, *A Collection of the Mathematical Problems* (Interscience, New York, 1960)
38. B. Xu, J. Brzdęk, Hyers–Ulam stability of a system of first order linear recurrences with constant coefficients. *Discrete Dyn. Nat. Soc.* **2015**, Article ID 269356, 5 pp. (2015)